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The figures in the margin indicate full marks
Jor the questions

Paper : GECCOM1A
( Fundamentals of Accounting )

1. (a) % GO forqr: 1x4=4
Write True or False : )
i) S AR GBI ITTHR S R IO
ey 5 oA I |

Cash method provides a better

indicator of a business’ profits or
losses.
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(2)

C () VA W E I A TR WIS
s &1 Rty ffes w01

Simple cashbook is to record both
the cash purchases and cash sales.

(iii) =TS S O oo AfgE Tgs omre
et R FCA |
The unfavourable balance of Profit
& Loss A/c should be added in
liabilities.

fiv) wEreT® ek foms  IeIRT
IR 2R T |
Non-profit seeking organization
never undertakes trading activities.

[t

(b) AR T ' . 1x4=4
Fill in the blanks : ‘

() TR oI 1 ARCMR IR
TN S I <01 CONTEA |
The is an incentive given or
received for prompt payment.

(i) Fowom o ___© (I ||

Suspense A/c is shown in the

. fiii) TR CE LA G ____ |
Trial Balance is an .

24P/486 { Continued )

2. (a)

(3)

(iv) T PR T o1t IR oW eyt
W AR, B ____ T
If a transaction is completely
omitted from the books, it is a
error. B

mﬁv@rﬁ@mwﬁwmﬂwﬁ

| AP IR TS TR AR IRT

()
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Explain the various causes of disagree-
ment between the bank balance as per
passbook and that as per cashbook.

S%q1/ Or

31 ferwe To (R IR IV TP QRS
VS 10,000 PR IR 741 T e S
TrEy 1 FRTS ] T IS ({1 AR S
GG a9 :

On 31st December, the bank balance as
per passbook of Dr. Deka shows a
balance of ¥ 10,000 but it does not
agree with the balance shown by the
cashbook due to the following reasons :

) 1,000 W SF 800 TR (IR AT
T fowr 2fem afvs 31 Rovr ws

Aoy ST A ke

Cheques of ¥ 1,000 and & 800 were
paid into bank but not cleared
before 31st December
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(4)

fi) 4,200 IR 5F @ 2= T (2Re R
o1 31 Reeg WS “NeAmRT T[I
SCERI R'HA
Cheque of ¥4,200 was drawn but

not encashed by creditors before
31st December

e A R sms =1 |

Prepare Bank Reconciliation Statement.

3. woTe FAA R GO SRBR @S 5 GO R :

4x4=16

Write short notes on any four of the
following :

(a)
(b)
()
(d)
(e}
"0

24P/486

CTRFN ©J

Accounting information
TR I

Capital expenditure
TS YR

Accrual concept

oG o T TPz
Rules of debit and credit

TOIE] T<
Source document

JPRS 16
Trade discount

( Continued )
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¢5)

(g) WeATS I/
. Outstanding expenses

) 9T TRRFMES b

Sole-proprieto_rship firm

4. (@ f: QR EEEPE T o @R iR |

oRb o s SR RorpRg AR
0 :

Mr. Haloi had the following
transactions. Determine the accounts
to be debited and credited :

(i) 35 10,00,000 BF TN WA IF
w198 ¥R

Commenced business with cash—
¢ 10,00,000

(i) 9 2,50,000 3FR 4 T IR

Purchased goods for cash—
¥ 2,50,000

(i) R I = ffw eafRei—60,000 B2
Paid for advertisement— 60,000

(iv) P & Coaww@swmaﬁfiﬂ—
2,00,000 5

Bought goods from P & Co. on
credit—¥ 2,00,000

(v) % 1,20,000 53R %7 RE
Sold goods for cash—¢ 1,20,000

16
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(6)

(vi) 2,00,000 PR <1 I AP F|

Sold goods to Rabi on credit—
¥2,00,000

(vii) =R far (fRe—90,000 531
Paid commission—& 90,000

(vid) T e L2fRe—80,000 B
Paid salaries—® 80,000

ix) =1t fim C2fRe—60,000 B
Paid rent—% 60,000

1

i

() REER o[ 99 5,00,000 @R

Raic
Loan taken from  Hiralal—
¢ 5,00,000
5%’/ Or
m) Wl (&6 P B owme e W
R = & @2 o AT [P we
Tg8-+1g S e foran 4+6+6=16

State the meaning of incomplete

records. What is meant by Statement of

Affairs? Distinguish between Statement
- of Affairs and Balance Sheet.

24P/486 ( Continued )

24P/486

(7)

5. (o) R R? SROAT YeIRe 1 IR R 2

4+4=8

What is depreciation? What are the
factors affecting depreciation?

%/ Or
) R. eak 2021 =1 1 W= 70,000 TFr©
9% s T IRBA1 @€ 2021 R
1 TSRS 50,000 31 WM <O @ =
IREA 1 IR 15 O T7© SLM +5Re
S50 4 371 02fRe | oS Iz 31 Wi Ry

a#uswiﬁwﬁtaf%ﬁwmaﬁa
ot ggs v

Mr. Gupta purchased a machine on
1st April, 2021 for ¥70,000. He bought
another machine for 50,000 on
1st November, 2021. Depreciation was
charged @ 15% p.a. on straight-line
method. Show the Machine A/c for
3 years assuming- that accounts are
closed on 31st March each year.

6. (@) A% A o R o ww W | ROEA

TS 4! NP B 1

State the difference between Receipts &
Payments A/c and Income &
Expenditure A/c.
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o</ Or

DBM #RA 1 «fd&, 2022 @ity r Tge
e 1,500 9 W @@ Sy wiftw
30,000 31| ©F© fil ©YR M1 31 W,
2023 T %8 [l TR AR = 75 Roret tuR
¥q:

DBM Club had a cash and a bank
balance of ¥1,500 and 30,000
respectively on 1st April, 2022. From
the following details, prepare its
Receipts & Payments A/c for the year
ending 31st March, 2023 : »
IS TIWDE S TP [/ 3% 9
et :

" Subscription received during the year

from members :

12.0(9

2021-22% N 6,000
For 2021-22

2022-233 IR 70,000
For 2022-23

2023-249 F[CT 14,000
For 2023-24

5 T ' 40,040
Furniture purchased

CIPA *[1 <1 31 SfFl 3,200
Rent received from auditorium

&% b5 31.03.2023 8,500

Balance at bank on 31.03.2023

{ Continued )

(9)

7. (@) S 31 Wb, 2023 CRW @ VR
JEIM QPR A TEem ot fim T4
i) GRR ot W (i) <ire-careoe oM 2%

*«€0:

8+8=16

Following is the Trial Balance of Bose, a
sole trader, as on 31lst March, 2023.
Prepare (i) Trading A/c and (i) Profit &

Loss A/c :
R Lo
Particular Amount

€ (&)
R W 2,400
Opening Stock
] 26,000
Purchases
R 1,600
Wages
LT 1,725 -
Salaries
T %4 100
Bad Debts
MR 2,025
Debtors
AN 2,500
Furniture
o wF Wi 7,000
Land and Building
=3 500
Drawings
M 150
Cash

34,000
24P/486

Ra e
Farticular Amount
e (=)
7 R 375
Return Outward
oret 2 75
Rent Received
MM 800
Creditors
TS 1IN 100
Outstanding Salaries
Sl 30,000
Sales
= 12,650
Capital
44,000
{ Turn Over )



(b)
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(10)

ST
Adjustments : -

fi) TR ¥ge—2,700 B
Closing Stock—¥ 2,700

(i) TS TGR—100 51
- Outstanding Wages—¥ 100
() TR wF SHRPR W ST 10 TORA

=R

_ Depreciation on Land and Building
@ 10% p.a.

RN/ Or

fprer 2ftFs pors RER TR SF SRR

I 41 GRR B WF Are-csH Rorel
o] N R ST 30 | 8+8=16
Explain the purpose and components

of Final Accounts in the accounting

process. Discuss the difference between
Trading and Profit & Loss A/c.

( Continued )

(11)

Paper : GECCOM1B
( Marketing for Beginners )

1. (@) @ Rgfa: | 1x4=4

24P/486

Write True or False :
fi) TR SPES AR . TEEFAT TS
|

Modern marketing begins before
production.

() e A B Qe @, Re IR
Qo e oz 7= |

All trademarks are brands, but all
brands are not trademarks.

(i) Rerm T4 WVW"HVW TERF
e +RenfRe s |

Advertising is a personal presenta-
tion and paid tool of marketing mix.

(iv) TR T Lo WRA e o e
T A =N | '

Price is the only element in the
marketing mix that generates
revenue.
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(b) AN @I - 1x4=4
Fill in the blanks :
fi) e T . ayfie WREAR
4R | |
Consumer is the. in modemn

concept of marketmg

‘(ﬁ)W’[‘fﬁl@Wﬁ@?mWW
- fAfe L CE
At maturity stage, sales continue to
increase at rate.

(i) R A N W agesficn ANRTS
A FEA ____ W
In skimming pricing policy,
producers generally charge
price.

 (iv) mﬁm«aﬁw%amw_
Y T |

A zero level channel consists of a
producer and

2. 7S AR R e fBRoR eors 55 G form
4x3=12

Write short notes on any three of the
following :

(@ TERIFA ﬁ!l‘ﬁ YRl
Concept of marketing mix

" ( Continued )

(b)

()

()

(e)

3. (a)

(b)

4. (a)

24P/486

(13)

ORI |{EAFR
Service marketing

SR TEERE
Mass marketing
=R “fvem

Logistics management

R P
Pricing strategies

TEREN (RN 7 I|EFTR GFF WA
Eall 4+8=12
What is marketing concept? Discuss the
importance of marketing.

91/ Or

7R a1 B2 TR Rar o939 Tameemz
HITEASA |01 4+8=12
What is product mix? Discuss the
important variables of product mix.

TR MReF Foa B @2 R Peomw
TOMIPRR BT SIS 341 | 4+8=12
What do you mean by market
segmentation? Explain briefly the bases

for market segmentation.
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5. (a)

)

6. (a)

()

~
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( 14 )

W1/ Or
TR & v 2 T AR oz e
Lol 4+8=12

What is product life cycle? Discuss the

various stages of product life cycle of a
product.

'tﬁﬂnﬂwﬁ?wﬁ#ﬁwmc’mﬁm

TR ST 41 | 4+8=12
What is pricing? Describe the various
factors affecting pricing decision.

Y%R1/ Or
R o B2 Rew omdm AR -refem
SIS 34 | 4+8=12

What is sales promouon? Discuss the
various methods of sales promotion.

R = WM w% cifder 7 AT Regg 3t
I 4+8=12

Explain the skimming pricing policy and
penetration pricing policy.

T/ Or
ReIm 17 B2 Reaw e fAfiaTe sor
COICTT CARPIYR SCAGAT 347 | 4+8=12

What is channel of distribution?
Discuss the factors governing the choice
of channel of distribution.

( Continued }

(15 )

7. (@) T PROR ¥ I Qi VW R

4+8=12

CRPTR T |

' What do you mean by product

(b)

24P/486

repositioning? Explain vanous purposes
of product reposmomng '

W/Or
Rew Ww Freo B W2 WA ‘Iﬁ‘" Al
GFPTE AT 31 | 4+8=12

What do you mean by physical
distribution system? Discuss the
advantages and importance of physical
distribution system.
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Paper : GECCOM1C

(l Basics of Human Resource Management )

1. wm«ﬁéf-ﬂwﬁwm: 1x8=8

Answer the following as directed :

(@) W’I"ﬁ’tﬁﬂﬂﬂl@mﬂml
(=m cTeres o)

Human resource management is a
continuous process.

S ( Write True or False )

(b) ‘oW TRANSIAT Cr FA6IA A @ e |
(0% GTorem ford )

‘Demotion’ is a source of recruitment.
( Write True or False )

(c) T oo = W I RemR [
(0% G erem forr)
Job evaluation begins with job analysis.
( Write True or False )

(d) R o T 7 AREER SR 1

(= crerem foran)

Planning is a managerial function of
human resource management.

" (Write True or False )

-

24P/486 { Continued )

(e}

(9

(17 )

R AfRE o @RI Ry e
GG <1 % ) o
(0% oo o )
There is no difference between career
planning and career counselling.

( Write True or False )
TR AF TR AFFE TS @A
N X |

(0w GTrgm o)

There is no difference between induction

‘and refreshment training.

( Write True or False)
AR o S AROE o1 i BTEy 740 |
Mention one function of HRD manager.
1 SRS TR B

Give one example of non-financial
incentive.

2. woe AR R mnﬁﬁn;sws{cﬁmﬁm
4x4=16

Write short notes on any four of the
following :

(a)

)

24P/486

TR ol RO SRR

Objectives of human resource
managément

AT Al

Inductive training

{ Turn Over )



(18 )

) T\
Placement
(d) Rerrrs TR =R
Scientific selection
fe) TR
Incentives
() =R Rowr

Compensation management

T8 (@) TR W ARCEAR gl W R e

- w 5 ’ 7+7=14
Discuss the nature and scope of human
resource management,

: SR/ Or _

(b) TS OF FHR ReeT P B w2 TR
FRY SF SRAPTR S 97 | 7+7=14
What do you mean by line and staff

organizations? Discuss its advantages
and disadvantages.

4. (a) OB RIS IR R ARRIYN I T
o AR6E1 (HRP)T Scareuel o 911 14
Explain the importance of human
resou.rce planning (HRP) to ensure
effective utilization of manpower in an
organization.

24P/486 ( Continued )

S.

6.

()

(@

(b)

(@)

(®)

(19)

O[T/ Or
+ fRomt B2 TR TR ReETe WR
o T | 4+10=14

What is job analysis? Evaluate its
significance in human resource
management. ,
FHRA TR TE TR AT 7 Jraw
T FHA YT GF FHR I AT
N S 2+2+10=14
Explain the meaning of fTecruitment’
and ‘selection’. Distinguish between
recruitment and selection.

. 91/ Or
g FHR AR crae R @
SRl I[P AT 14
Discuss the significance of employment
tests in the selection of new employees.
afreR S o @1 Soofe  afSbee
AP ArEReR Recy 3 41 14

Define training. Describe the
importance of training in an industrial

organization.
41/ Or

st RS Rz I F 1
Explain the various methods of training.
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1. (a) ©% @ SF B

( 20 )

Paper : GECCOM1D
( Introduction to Banking )

Write True or False :

1)

@

(i)

fiv)

24P/486

mvhwﬁﬂﬂwmzaiqsmmu

"Bank provides no interest to
Current Account.

QR CRA R Tw (2’ (IRizE
AR |

Mobile banking is the latest
development in the banking
services.

NEFT-Y G0 (FqF 9641 GGToCia®
s 7 |

NEFT transactions are not limited
to domestic transactions only.

Tafe FERRT Wit SR
TEAITe] FERIR IR AR TS
Rz amye

E-Banking contributes to environ-
mental sustainability by elimina-
ting the need for paper-based
account information.

( Continued )

1x4=4

(21)

(b) NI P 1x4=4
Fill in the blanks : -
» M o RrRD tae s R s
g e |
Flexi deposits combine the features
i of fixed deposit and

- (i) R ARCTE AR |
Remittance of fund is a
function of a bank.

(i) RTGS 3 < ToichI L% _
The full form of RTGS is _

fiv) ___ & Q7 % R Af¥rem
RS QM OF e AfFTRRR
I@A IR\ [ & R I9-cR
o |
_____is a global messaging network
used by banks and financial
institutions for secure communica-
tion and transaction processing.

2. oS fraaRs R @l SRR eore oY B ot -

4x4=16
Write short notes on any Sfour of the
following :
(@) SRR AW AT
Regional rural bank
24P/486 " (Turn Over)



(22 )

(b) T T
Recurring deposit

(0) Ao

. Promissory note

(d) IR R
Mobile banking

fe) Gifdem

 Flexi deposit

(N N ey
Fixed deposit receipt

3. (a)"sﬁﬁﬂmﬁi&wﬁa@aﬁmw
01 14

Discuss about the evolution of the
Indian banking system.

%1/ Or

(b) &S AR SCeA %4 : 7+7=14
Discuss the following :

() SIS AT T S-S @
Scheduled banks ys. Non-
Scheduled banks

(i) FRY AR W IR G
Central bank vs. Commercial bank

24P/486 ( Continued )

(23)

4. (@) QT ANMEF IEEFL W A 14
' Explain the primary functions of a
bank.

AT/ Or
() AF PO QLF TR T TRA

BerafenpEre TR I |
Explain the general utility functions
provided by a bank in modern times.

5. (@) of®/AER R (AR &fS I | 14

Explain the procedure of opening a
Savings Bank Account.

w1/ Or
(b)) KYC Wiia B? KYC3 sramsmmel & Q- -
RT3 4+5+5=14

What is KYC? Explain the need and
norms of KYC.

GoeR Wiw R ke e
6. (a) W:ﬁzw ‘ '

. 3+7+4=14
What is electronic fund trans.fer?
discuss the advantages and limitations
of electronic fund transfer.
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34/ Or

) %ARR A B QR TR FREPTER
ST 4 | 4+10=14

What do you mean by E-Banking?

Discuss the general features of
E-Banking. ‘

dkok
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